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Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.
Three A’s — Achievement, Affiliation
and Aggression are reflected in
(A) Emotion
(B) Motivation
(C) Ambition
(D) Expectation

A fifth test was added to an
established selection test battery of
four tests. The old and new versions
were correlated to an external
criterion of job proficiency. The
significant change in R? was noted.
This provided an evidence for

(A) internal consistency of the fifth
test with the earlier four tests.

(B) construct validity of the fifth
test.

(C) reliability of the selection test
battery of five tests

(D) incremental validity of the fifth
test.

Which of the following scaling
method/s has/have been proposed by
L.L. Thurstone ?

1. Cumulative scale

2.  Paired comparison method

3. Scale discrimination technique
4.  Equal appearing intervals
Codes :

(A) 2only

(B) 2and3only

(C) 2and4only

(D) 1,2and4only
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The kind of brain cells involved in
observational learning are known as
(A) Glial cells

(B) Myelin sheath

(C) Mirror Neuron

(D) Golgi body

Given below are two statements :

Assertion (A) and Reason (R).

Indicate your answer with the help of

codes given below :

Assertion (A) : Memory for
autobiographical  information
and for life experiences is called
autobiographical memory.

Reason (R) : It relates to the
knowledge about where and
when one is born, his/her
educational history and places
one lived in.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Neural network model of memory
suggests the following :

1.  Interconnectedness of neural
units.

2. Information is  processed
quickly.

3. Information in memory is not

located in specific parts of brain.
Codes :

(A) land2 (B) l1and3
(C) 2and3 (D) 1,2and3
J-04-13
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7.  Match List — I with List — Il and
indicate your answer using codes

given below :
List—1 List— 11
(Memory (Descriptions)
phenomena)
a. Method of 1. Reducing
loci what is to be
remembered
to a few key
points and
then encoding
these with an
acronym
b. Elaboration 2. Concepts  are
mnemonic presented by the
nodes of a
network and
relationship
between
concepts by link
between the
nodes.
c. Associative 3. Visualising a
network walk through
the rooms in a
‘memory
theatre’,
leaving one of
the key topics
at each
location.
d. Reduction 4. Remembering
mnemonic something by
associating
each item with
each line of
rhyme
Codes :
a b C d
A 3 4 1 2
B) 3 4 2 1
C 4 2 3 1
b 1 2 4 3
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10.

Which of the following strategies is
classified as  “problem-focused”
rather than “emotion focused” ?

(A) Engaging in cognitive
reappraisal

(B) Learning techniques of
relaxation

(C) Seeking social support
(D) Engaging in physical exercise

Match List — I with List — Il and
select the correct answer by using the
codes given below :

List—1 List—11

(Motivational (Example)
concept)

a. Existence 1. Expectancy
need

b. Hygiene 2. Recognition
factor

c. Motivators 3. Security

d. Process 4. Working
theories conditions
Codes :
a b c d
A 4 3 2 1
B) 4 3 1 2
C 3 4 2 1
) 3 4 1 2

A person after seeing the different
colours of water in the sea of
Kanyakumari has written a poem.
This may be due to

(A) Heuristics

(B) Imaginal thought

(C) Motoric thought

(D) Propositional thought
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11.

12.

13.

One of the following types of love
does not belong to Rollo May’s
classification of love
(A) Eros

(C) Agape

(B) Phila
(D) Narcissism

A psychologist employed in the
school, at the instruction of school
authorities, administered an 1Q test to
the school children and displayed the
scores on the notice board. This is an

(A) ethically incorrect practice
since it violates confidentiality.

(B) ethically incorrect practice
since it violates informed
consent.

(C) ethically correct practice in
view of the transparent policies
of the school.

(D) ethically  correct  practice
provided the 1Q scores are not
taken into consideration while
giving grades.

Given below are two statements, one

labelled as an Assertion (A) and the

other labelled as a Reason (R).

Assertion (A) : The method of
paired comparison is especially
suited for scaling the large
number of stimuli.

Reason (R) : The method of
paired comparison usually
employs law of comparative
judgements for getting scale
values.

In the context of the above

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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14.

15.

16.

Which of the following is/are the
process theories of work motivation ?
1. McClelland’s theory of needs.
2. Herzberg’s two-factor theory of

work motivation.
3. Porter-Lawler’s

satisfaction theory.
4.  Vroom’s expectancy theory.
Codes :

(A) 4only (B) 1&3only
(C) 2&4only (D) 3&4only

The technique involved in guidance
which is called “The heart of the
guidance programme” is

(A) The case study

(B) The interview

(C) The cumulative record

(D) Aptitude test

performance

Match List — I with List — Il and
indicate your answer using the codes
given below :
List—1 List—11
(Types of (Change in
development) person)
a. Social 1. Changes in

development body structure
and  function
overtime.
b. Emotional 2. Changes in
development mental processes
become  more
complex  and
differentiated.
c. Physical 3. Changes
development overtime in the
way we relate
to others.
d. Cognitive 4. Changes in
development hormones  that
takes place as

one grows.
Codes :
a b c d
A 2 4 3 1
(B) 3 4 1 2
C) 2 3 4 1
D) 3 1 2 4
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17.

18.

Read each of the following two

statements-Assertion (A) and Reason

(R) and indicate your answer using

the codes given below :

Assertion (A) : Teacher is effective
when her students had good
achievement/score well in the
examination.

Reason (R) : The teacher does
not practices / gives corporeal
punishment to her students.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Read each of the following two
statements-Assertion (A) and Reason
(R) and indicate your answer using
the codes given below :

Assertion (A) : Signal detection
theory measures two
components of a person’s

ability to detect signals -

perceptual  sensitivity  and
decision criterion.
Reason (R) : Studies of vigilance

have revealed that the ability to
detect an event is dependent on
various factors such as training
and expectations.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Paper-I111

19.

20.

Match List — I with List — Il and
indicate your answer by using the
codes given below :

List—1 List— 11
(Theory) (Characteristics)

a. Humanistic 1. We may

theory acquire money
because it
protects us.

b. Cognitive 2. People are
theory motivated by

the conscious
desire for
personal
growth.

c. Drive- 3. People
reduction represent
theory their worlds

mentally.

d. Psychoanalytic 4. Behaviour

theory depends upon
instinctual
forces.

Codes :

a b c d

A 3 2 4 1

(B) 4 1 3 2

C) 2 3 1 4

(D) 1 2 3 4

According to Elizabeth Kubler-Ross
most people experience predictable
stages when they face impending
death. Which is the correct sequence
of the stages ?

(A) Anger, sadness, bargaining,
denial, acceptance
(B) Bargaining, anger, denial,

sadness, acceptance

(C) Acceptance, anger, bargaining,
denial, sadness

(D) Denial, anger,
sadness, acceptance

bargaining,

J-04-13
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21.

22.

Match List — | and List — 1l and

indicate your answer using the codes

given below :

List—1 List— 11

(Disorders) (Description)

a. Prosopagnosia 1. Ignoring  one
half of visual
space and not

perceiving
objectes in that
field.
b. Unilateral 2. Inability to
visual neglect recognize faces
c. Agnosia 3. Impairment in
realistic self
appraisal
d. Anosognosia 4. Failure to
recognize
objects
Codes :
a b C d
A 1 4 3 2
B) 3 2 1 4
gci 3 1 4 2
D) 2 1 4 3
Match List — I with List — Il and
indicate your answer using the codes
given below :
List— 1 List—11
(Types of (Description)
attention)
a. Focused 1. Attention can be
attention shifted internally
and which does not
require changes in
orientation or eye
movements.
b. Overt 2. Attention dealing
attention with some specific
inputs and exclude
others.
c. Divided 3. Attention that is
attention dependent on
orienting responses
and eye movements.
d. Covert 4. Attention  shared
attention between more than
one  simultaneous
tasks.
Codes :
a b C d
A 2 4 1 3
B) 3 4 2 1
c 1 2 4 3
Do) 2 3 4 1
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10

23.

24,

25.

Which of the following describes the
cognitive triad of depression ?

(A) Helplessness,
worthlessness

sleeplessness,

(B) Thoughtlessness,
worthlessness, sleeplessness

(C) Hopelessness, worthlessness,

thoughtlessness

(D) Hopelessness, worthlessness,

helplessness

The speech delivered by Ex-Prime
Minister of India at UN was enjoyed
by delegates. The speech consisted of
the formation as

(A) Phonemes, Words, Morphemes,
Phrases

(B) Phonemes, Morphemes,
Words, Phrases

(C) Morphemes, Phonemes,
Words, Phrases

(D) Morphemes, Phonemes,

Phrases, Words

Many responses are possible in any
learning situation. That response
which brings about reinforcement
rapidly with least amount of effort is
most likely to occur first. If that is
blocked, the animal will prefer the
next shortest route, and so on. This is
known as

(A) habit strength
(B) generalized habit strength
(C) habit family hierarchy

(D) frustration drive stimulus
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25.
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FH T & G AEAr § e &
T el €, 3§ e B Wl HHIE
T A Bl & | A o e @l
S €, T ] 3T T Bl 7N ES
UM, TS | TH 1 T & 2

(A) TEd Wl
(B) HIIp T ferT
(C) 3T"d URAR H T
(D) et i S
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26.

217.

28.

29.

30.

Different item functioning probably
reveals

(A) Administration bias

(B) Construct bias

(C) Interpretation bias

(D) Predictive bias

Immunity system’s functioning is

most likely to increase when

(A) People just share about their
problems.

(B) They are
coping styles.

(C) They practice effective stress
management techniques.

(D) The general adaptation
syndrome begins.

taught  repressor

Which of the following methods of
probing increases the probability of
eliciting increased information from
eyewitness ?

(A) Direct probing

(B) Open-ended questions

(C) Cognitive interview

(D) Prompted recollection of events

Situations in which each person can
increase his/her individual gains by
acting in a certain way, but if all (or
most) persons act that same way, the
outcomes experienced by all is
reduced. This phenomenon is known as
(A) Social loafing

(B) Social dilemmas

(C) Reciprocity

(D) Conflict

Which of the following beliefs does
not underly a person’s ability to
regulate his/her feelings in order to
lessen negative effect of stressful
conditions ?

(A) People can have the most
pleasure if they give up short-
term pleasures.

(B) People should strive to
experience emotions that are
pro-individual and prosocial.

(C) People should strive to
experience no emotion.

(D) The best emotions to feel are
those that are appropriate to the
situation, including painful
ones.

Paper-I111
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31.

32.

In treating which of the following
conditions ‘mand’ is used as the
central  principle of behaviour
modification ?
(A) Anxiety
(B) Autism
(C) Anhedonia
(D) ADHD
Match List — I with List — Il and
indicate your answer using the codes
given below :

List— 1 List—11

(Styles of (Brief
interrogati Descriptions)

on)

a. Counseling 1. Helpful,

style ingratiating and

fatherly

approach as a
way to obtain a
confession.
b. Dominant 2. Brusque, factual
style and formal
attempt to gather
evidence.
c. Collusive 3. A friendly,
style unemotional,
and
nonjudgmental
effort to obtain
accurate
evidence.
Impatient  and
emotional
attempt to get
the suspect to
confess.

d. Business 4.
like style

Codes :

(A)
(B)
(®)
(D)

A OWODNPEFE O
N W PRT
wWkFk A~ADNO
R NP Wwa
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26.

27.

28.

29.

30.

=1 7T SR g9aqar Fefatad §
AT Uhe HLdl & ?

(A) TS gEiTE

(B) W%

(C) e

(D) wioerge gaie

UfaReT F B FREERAT B gy H

GaliTees GATET O il § 5

(A) T O TS ®oemw o
et €

(B) 3% THTHAT H WA FA H
fert o St § |

(C) & UwTEl TqTE-Fawy st wfaferar
3T A ¢ |

(D) WHRT GHENSH & T&I07 T URET
TS |

q 31fyes TSR] et ot G9TeAT i
TEIade?

(A) UT& ST ggdrel

(B) HIR we

(C) TIcH HHeeh

(D) =TS T TSI HUGTT

foer &1 9 fofar oRd gU ST SR
A A ghg Y TR €, W A el @
SNTehieT) AT ST & THH TR H
&, T U % 5T SFNa feram T R
T ST & | 39 =T B AT e § 2
(A) QIS AT

(B) wmtSTe fferem

(C) URERERa

(D) w=d

TIM3TT o THRICHSE UHTE i HH
FA H Al Sl ATFar & 5I0 fafatid
H | i q1 fovarg Ffea 6 g & 2
(A) 3R AR TeTHicss @l &
H & A T AT @ O Tkl € |
(B) N &l 3 GolM ol Tegd HH
H AR FA AT A K-
3T H 3 THS-3FHA ¢ |
(C) N &l Sl FaT T Heqq T Tl
T AT AT |
(D) 7egq FH & o S g a ©
S oRfefd & oFmer €, TEd
TERTE HoT ot e § |
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31.

32.

frefateg 4 e fefd & SR g
HUg’ & FRR G & HE Fog
& & | IYINT fohar S & ?

(A) 3=

(B) T

(C) g@EgEME

(D) TTTAE

g — | gt — 11 % e gAterd H
3R A @ $2i * SW WA FW
3T 3T I

= - | = - 1

(TS (wtere faawon)

Siferat)

a. WS Vel 1. Ried e
FHH HT TAT TG
g W',
FPled T
TUAT-Tq IR
fopar ST & |

b. UET St 2. TR TS HA B
AR,  TATHD
3R 3= =T

c. [Whafgul 3. IwdF W
e A & o
e,
FEATHE T
AFEE
R

d. ORI 4. Wiy Al H

el AWY PR
FH H IR
L I oh e )
P

Fe !

a b c d

(A 1 4 2 3

B 2 3 4 1

© 3 4 1 2

o 4 2 3 1
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33.

34.

Match List — I with List — Il and
indicate your answer using the codes
given below :

List— 1 List— 11
(Concept) (Psychologist)

a. Four A’s of 1. Anna
Schizophrenia Freud

b. Theory of 2. E.Blenler
Ego-defense
Mechanism

c. Separation 3. H. Selye
Anxiety

d. General 4. Otto Rank
Adaptation
Syndrome

Codes :

a b c d

A 2 1 4 3

(B) 2 4 1 3

C) 4 1 3 2

(D) 4 2 3 1

Which one of the following does not
belong to the mechanism of operant
learning ?

(A) Events that follow an action
(B) Involuntary response

(C) Process that weakens or
suppresses behaviour

(D) Use of consequences to
strengthen behaviour.

Paper-I111
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35.

36.

37.

The art of establishing trust, respect
and co-operation in a relationship is
referred to as

(A) Personal distance

(B) Continuation behaviour
(C) Use of humor

(D) Rapport

Read the following two statements :
Assertion (A) and Reason (R) and
indicate your answer using the codes
given below :

Assertion (A) : Individuals take
high risk in mountaineering.

Reason (R) : Intrinsic motivation
Is the desire to be effective and
to perform a behaviour for its
own sake.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.
(D) (A) is false, but (R) is true.

The procedure called ‘semantic
priming’ is used to study which of
the following phenomena ?

(A) Signal detection ability

(B) Field dependence —
independence

(C) Locus of control
(D) Subliminal perception
J-04-13



33.

34.

T — | g — || % | gHea w
Y A 3 el o Terdn ¥ 39T TR
A
=t - | = - 1
GEICEIEED)

1. T wES

(3raramrom)
a. AAaRerd &
TR T (‘A’s)
b. 3@H - T
EARESEALS
C. 3TTTTe i
ElEal
d. 99T 3FeH 4. 3T &
HereTor

2. TR

3. T g

T4

(=N

(A)
(B)
(©)
(D)

A B NN
N RN R, T
[N
N W W o

fpomrga otfry wF fopnfaty o
frferfad o @ w1 gaTae F&l & ?

(A) T T ST A aTelt gt
(B) oF-Wifeye SHhaT

(C) wfshan it =aRR & et sedl &
7 gt ¢ |

(D) FWR & TASEd FH H oW
GROTEY T ST
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35.

36.

37.

Ty | fovand, 3T 317 TediT Tgd
S ! oAl 1 1 hed & ?

(A) AT 3
(B) 3R TR
(C) == & 3qam
(D) =feT

frfefad g st (A) 3R SR
(R) 7¢ 3R == T T F< & W 4
31T I 3Tkl Y

AfWFHTT (A) AT TIARIE | ST
TR 33 € |
AT (R) . 3 O aRR A

% [0 3TReh WicHTe &l 337
TS B Tl |

ET

(A) (A) ¥R (R) i ¥ € 3R (R),
(A) & el A T |

(B) (A) ¥R (R) =i ¥ € iR (R),
(A) i TE T TE F

(C) (A) Tl e, o] (R) T & |

(D) (A) e &, 7 (R) Wl ¢ |

3T YaI-Feha URRAT § 9 § ¥ 69
TR T 3TeAg foha ST & 2

(A) ThT HHAO T
(B) & iR — e
(C) =0T =i 3T
(D) TErEHIT HeeIoT

Paper-111



38.

39.

Given below are two statements :
Assertion (A) and Reason (R).
Indicate your answer using following
codes :

Assertion (A) : Ingratiation is a

technique for gaining
compliance from other person
in  which  requester  first

introduces himself/herself to the
target person as an authority and
then asks to comply his/her

order.
Reason (R) : Ingratiation induces
liking in target person for

requester and attempts to change
target person’s behaviour in
one’s favour.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

One of the following tests do not
belong to self-concept
instrumentation :

(A) Rosenberg Self-esteem Scale

(B) Coopersmith
Inventories

Self-esteem

(C) The Self-perception Inventory

(D) Body-image Questionnaire

Paper-I111
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40.

41.

Our expectancies, learning, past
experiences and cultural factors play
a critical role in shaping our
perception. This is well explained by

(A) Information processing
approach
(B) Bottom-up processing

approach

(C) Top-down processing approach

(D) Hierarchical processing
approach
Match List — I with List — Il and

indicate your answer using code
given below :

List— 1| List—11
a. Inductive 1. Analysis and
Reasoning combination
of thoughts
b. Bottom-up 2. Interpretation
Processing of ideas and
concepts
c. Deductive 3. Developing a
Reasoning general
principle
d. Top-down 4. Using a
Processing principle  for
conclusion
Codes :
a b C d
A 1 3 4 2
B 2 1 3 4
C) 3 1 4 2
D) 4 2 3 1
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38.

39.

I g7 e AT (A) qAT HRT
(R) T&u gu & | F=AiTehe e i TeradT

[a¥a

T SO I T HIST

AfuwT (A) © TP T A O
WA T H dHAE ¢, e
fagasal ey Al H Te
3O URET TAERt % w9 H
FAT ¢ AR BT S0 AR H

qTeT i i a1 & |

&R (R) : ITE, A S H
g & o qg=< e war &
3 e ATFT & SRR T 30

GeT | Feo I FATE |

(A) (A) R (R) 3Hi ¥ € &R (R),
(A) i TE A E |

(B) (A) 3i¥ (R) 3HT T & 31X (R),
(A) i TE T TE F

(C) (A)TEE, W (R) 3HAT |

(D) (A)E@ T, W (R)FAT |

fefefea & 9 =9 9 9dgo -
O YK § Heird el & 2

(A) ST T - 06
(B) FWRTEHY -G Tl
(C) wE-ScTeltehor =it

(D) =& wfdferr yeererett
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40.

41.

HIGHh FRHI Hl TAR TFAHT 6
THIAEROT T Shifeceh YTHehT Bl & | T8
TR T 2 € 2

(A) g1 UshHIT 3UTTH

(B) T edl UShHUT SUMTH
(C) oTiRNY UshHUT SUTTH
(D) URTIHHH TSHHTT SUNTH

gEt — | @ ogdr - | § gafed s

TAT I IW ARG e T Ferd
T T
= - | = - 1
a. IMEARHE 1. TR W
Cll foveiTor 3R
A
b. SeaATH 2. femmi AR
TshHOT RN T
GERE]
c. s 3. 9w fasta
T foreptad e
d. Ty 4. Ty e
TS0 % oo tawm
T YGT
FT
a b c d
A 1 3 4 2
B 2 1 3 4
C© 3 1 4 2
o 4 2 3 1
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42. Which of the following is not correct
about the two hemispheres of the
brain ?

(A) The two hemispheres of human
brain are connected by a
complex network of neurons
called the corpus callosum.

(B) The left hemisphere, in most
people, is involved in verbal
and analytic behaviour and is
more dominant.

(C) The right hemisphere, in most
people, is more involved in
non-verbal thinking such as
spatial problem-solving and is
less dominant.

(D) The brain has two hemispheres
in human being only.

43. Recent researches show that

creativity is correlated with :
1. Intelligence

2. Psychoticism

3. Openness to experience
4.  Agreeableness

Codes :

(A) lonly

(B) land4

(C) 1,3and4

(D) 1,2and3

44. Which of the following theorists hold
the deterministic assumption of
human nature ?

1. Erickson

2. Murray

3. Adler

4.  Maslow

Codes :

(A) land2 (B) 3and4
(C) land3 (D) 2and3

Paper-I111
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45. According to Piaget changes in
schemes occur due to the following
processes :

1.  Organization

2. Circular reaction

3. Adaptation

4.  Mental representation
Codes :

(A) 1and2only

(B) 1and3only

(C) 2,3and 4 only

(D) 1,3and4only

Questions 46 to 50 :

Read the following paragraph and answer
the five questions which follows :

An experiment was performed varying
‘modality of presentation’ (A) at two levels
and ‘retention interval’ (B) at three levels.
Recall scores were used as the dependent
variable. Each cell contained randomly
assigned fifteen subjects. After the
experiment was over, cell-wise means and
standards deviations were computed. The
cell-wise  standard  deviations  were
approximately equal. The data were
analysed by following suitable ANOVA
model. One of the interesting finding was
that the F ratio, computed as (MS, , g/MS)

was significant at .01 level.

46. How many subjects were employed
in the above experiment ?

(A) 30 (B) 45
(C) 75 (D) 90
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42. TAfAtEd O ST ARShE AT & o

o I W& T/l § ?

(A) THE RIS % J TMd A
FITHN & Sl A gRT TS &
g € +U9 HarEw FeT S
T |

(B) 3TTashier @ H, ST et atereh
qAT Toveiiss TR § 31fds o
AT el BT € |

(C) oIyepisr @ W, IET Moy IR-
afas o 99 5w

TR Y % qY S9el
e € 317 % UaeT BId1 ¢ |

(D) ot AFE T ARESh & I TMerd
BT |

43. T & & WY I § fF gorrenshar
feferiad & oy Tretad ¢

(A)
(B)
(©)

1 9%

2.  HEHICRSH

3. 3TE & Uid garad

4. THTEATE
fak 1
13X 4
1,33 4

(D) 1,23 3

44, f=feiEd 9 9t fagraarT s ame

TS i e H=ar & 2

1.
2.

3. TR
4,

FT:

(A) 13T 2
(B) 33X 4
(C) 13k 3
(D) 23X 3
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45. TR &% R W H  uRenH
ffefEd ufshanet % SRoT e €

e

I HfATsHaT

et
M Fegor

9(8-\':“90!\’!—‘

(A) et 1 3R 2
(B) Faar 1 3R 3
(C) ot 2,3 3X4
(D) aet 1, 3 3R 4

U9 46 9 50 :
frfafad aitesg ug 3R o &3 @ Ut
O T IS

TH W e T MEE, 3 W W
“TEIITFRIOT B FHRAT (A) 3R A TR W
“YITIROT SR’ (B) Tl IZAT T | FedTea=
ITTehl Sl ST o & ®9 | YT fhaT T4 |
T Ot | A5 ¥ 9 Fite s v
g | YOI AT B % 915, AA-a” "l Ue
A foae T & TUET HF TS | IA-aR HHEH
foae amE TEE g | STYR 9mmR &,
Suge @ (ANOVA) HiEd & 3TER W
fageor fear | U feoee R Tw
et o1 o6 (MS,, | o/MS;) % &0 H ufehietd

F 31T .01 TR U2 Qreles o |

46, TEE WM F A w oA
fafenfsra forar mar 2
(A) 30
C) 75

(B) 45
(D) 90
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47.

48.

49.

50.

Which one of the following
statement appears to be correct for
the above data ?

(A) The assumption of
homogeneity of variance is
violated.

(B) The assumption of
homogeneity of variance is
satisfied.

(C) Means and
proportional.

(D) No data are provided about the
assumption of homogeneity of
variance.

variances are

The main effect of retention interval
would be associated with

degrees of freedom.
(A) 2

C€) 5

(B) 3
(D) 6

Which of the following conclusion/s

can be drawn from the above data ?

1. Main effect of modality of
presentation is significant.

2. Main effect of retention
interval is significant.

3. The interaction effect is
significant.

4. Neither the main effect nor
interaction effect is significant.

Codes :

(A) 3only

(B) 4only

(C) 1and2only

(D) 1,2and3only

Which of the following statement/s

is/are correct about the experimental

design in the above study ?

1. Itisabalanced factorial design.

2. It is an imbalanced factorial
design.

3. Itis a2 x 3 factorial design.

4.  Itis a between-groups design.

Codes :

(A) 3only

(B) 1and3only

(C) 2and3only

(D) 1,3and4only
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ol.

Match List — I with List — Il and
indicate your answer using codes
given below :
List— 1| List—11
a. ldentity 1. Individuals
diffusion who are
exploring

alternatives in
an effort to

find  values
and goals to
guide  their
life.
b. Identity 2. Individuals who
foreclosure have explored

and committed
themselves to
self-chosen
values and
occupational
goals.
Individuals
who do not
have firm
commitments
to values and
goals and are

c. ldentity 3.
achievement

not actively
trying to
reach them.

d. Moratorium 4. Individuals
who have
accepted
ready-made
values and
goals that
authority
figures  have
chosen for
them.

Codes :

a b c d

(A 4 3 1 2

(B) 3 4 1 2

C) 4 3 2 1

(D) 3 4 2 1
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47.

48.

49.

50.

ST YR M &% fort i a1 Fed

Tl T ?

(A) YT @ UHEAT H I B
SooTH g ¥ |

(B) WTROT I UHETT St AT T

(C) Tme 3R UEROT Ik & |

(D) VU1 i TSHETAT i AT o aR
T I 3iteel T el TR T |

TIAEROT 3TARTeT T T TTE Tl

Tohat wifedt ¥ Traf-ad ghm ?

(A) 2 (B) 3

€ 5 (D) 6

SUYF SHR g ¥ Hefated § 9

i GT TR FeRTeT ST Hehell € 2

1. UHOROT & UERAT H T
T T T |

2. UIdYRUT AU W YT U9
I E |

3. i foRa v e ©

4, T g UG A & 37w e
T E |

T

(A) a3

(B) a4

(C) ot 1 3R 2

(D) aer 1,2 3R 3

ST oI B VAN fesed &

I ¥ frefafed § & o4 qud e

TR e ?

1. I ¥WJed ER&  (GHEE)
HeT ¢ |

2. T I HRE  (FFHILT)
AHT & |

3. ¥ 2 x 3 IRH (GHALM)
AHT & |

4. Tz faedA uw T € |

(A) et 3

(B) oot 13 3
(C) aeT 2 3R 3
(D) a1, 3 3T 4
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C. UgdH

d. AREER

(A)
(B)
(©)
(D)

W bk~ w b o

A~ W b~ wWwoT

NNNPEFE PO

P P NN
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52.

53.

54,

Cognitive change occurs because of
(A) Cognitive self regulation

(B) Cognitive complexity

(C) Cognitive conflict

(D) Cognitive maturity

Which components of creativity can
be measured in the picture
construction activity of Torrance Test
of Creative Thinking ?

l. Elaboration
Il.  Fluency
I1l.  Flexibility
IV. Originality
Codes :

(A) landll

(B) Illand IV
(© land IV
(D) Iland I

Match List — I with List — Il and
indicate your answer with the help of
codes given below :

List— 1 List— 11
(Phenomenon)  (Psychologist)
a. Sense of 1. Abraham

powerlessness Maslow
b. Free will 2. Rollo May
c. Becoming 3. Victor

one’s self Frankl
d. Esteemneeds 4. Carl Rogers
Codes :
a b c d
A 2 3 4 1
B 3 4 2 1
C) 1 3 4 2
M 4 2 3 1
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55.

56.

The memory which contains factual

information is called

(A) Semantic memory
(B) Declarative memory
(C) Procedural memory

(D) Episodic memory

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).

Indicate your answer using the codes

given below :
Assertion (A) : Playing chess
requires  higher level of

cognitive strategy.

Reason (R) : Winning any game

needs ability and tricks.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation of
(A).
(B) Both (A) and (R) are true and

(R) is not the correct

explanation of (A).
(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.
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52. WTMIcHh Y fehdeh HROT &Il § 9
(A) HHETs @ ot
(B) TSHTHE Stieerar
(C) TSTHTH o
(D) HFHTHS RTEET
53. GoHIH® O & IR U016 o
fofor nidfafy & gemmasar & foe
et 1 AT fohal ST Fehell € ?
. fawwon
Il aREEar
I, =
IV. Hifersar
FT
(A) 13 1l
(B) IR IV
(C) 13 IV
(D) 13w 1
54, Fet — | & g — || % A e oK
T 52 et & T | ST TR 3HfeRd
FR :
=i - | =it - 1
() CRICEIEED)
a. STRTRICT Sy 1. ow%mEd
A
b. ¥ WA= 2. A A
C. Mg gAT 3. fawex
el
d. T e 4. et o
HT
a b c d
A 2 3 4 1
B 3 4 2 1
© 1 3 4 2
D) 4 2 3 1
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55.

56.

FECAT & 2

(A) vt Tgfer
(B) =uoTeHS Sgfd
(C) wfatas wgfd

(D) A |id

e q1 e, AEeH (A) TR HROT
(R) fsw 7w & | =i few MU e w1 v
Y U 3TIAT ST SiThel HINTT :

Ffpe (A) 99 Tom & fo
ST ET WIS Aifd 3Tafetd
BT |

R (R) : Tl off Tt @l StaA
% fau arear iR SEuw @

eI Bl & |

(A) (A) @R (R) SHI @ € @R (R),
(A) T T& AR E |

(B) (A) 3R (R) s ¥ €, 3R (R),
(A) i TE AT TE E |

(C) (A)T=E, T (R) @I & |
(D) (A) A&, ffg (R) T & |
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S7.

58.

59.

Which is the correct sequence of
emergence of virtues ?

(A) Hope, Willpower, Purpose,
Competency

(B) Willpower, Hope, Purpose,
Competency

(C) Purpose, Competency,
Willpower, Hope

(D) Competency, Willpower,

Purpose, Hope

Which of the following are the
negative symptoms of Schizophrenia ?

1. Hallucinations and Apathy
2. Asociality and Apathy
3. Anhedonia and Poverty of

speech

4. Poverty of speech and
Delusions.

Codes :

(A) land3only
(B) 2and3only
(C) 3and4only
(D) 2and4only

A competent and well-performing
female middle-level manager did not
consider herself as suitable for the
position of senior manager thinking
that females are not suitable for such
high positions. This is a typical
example of

(A) Glass-ceiling phenomenon

(B) Gender discrimination

(C) High motivation to avoid failure

(D) High motivation to approach
success
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60.

61.

Leaders who exert profound effects
on their followers and who establish
special types of relationships with
their followers are usually considered as

(A) Democratic leaders

(B) Transformational leaders
(C) Normative leaders

(D) Consultative leaders

Match the items of List — | with those

of List — Il. Indicate your answer
using the codes given below :
List—1 List— 11

(Hemispheric (Task condition)
involvement)

a. Left 1. Those which
minimize
response bias.

b. Right 2. Those which
involve
speaking or
writing.

c. No 3. Those which

difference involve use of
hands in three
dimensional
space.
4. Those which
involve olfaction.
Codes :
a b c

A 2 3 4

(B) 1 2 3

C) 2 3 1

D) 4 1 2
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S7.

58.

59.

TN & TS 1 TE ST B T
g7

(A) 3T, ST, TS, FeTHar
(B) TSI, 3R, TS, Hafea
(C) WAISH, WeTHdT, TSI, 3T
(D) eI, ST, TS, 3TTeM

TAIASETdT o TR TeIuT f=fefad
TIFME?

1. Townf R Sqmdiemr

2. GUS-SSTEMAT 3R ST

3. SR A 3R arp geerd
(3 )

4, arp AT (AT FH) IR Rt
(@ e favam)

T

(A) T@F 1R 3
(B) % 23R 3
(C) fa® 33X 4

(D) T2 3R 4

T qAT GHANAd HE FIA el HeAHT

TR H AT YUH 0 H AR

TS H USRefd % AU Suged el

TEE &, 9% 9 # 6 T F W&k

T Afeed SWgET @l Bt € | W@

et & @ forger urefs S

T2

(A) TG uRev  (IYUI-HMT
RIEER)

(B) forit wewma

(C) /%ol | S ol 3o UROM

(D) HEHCAT U i 3= UROT
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60. S AT YU STIATHST W TR IR

61.

I € R ST U AT & Ay
ooy g % Ty =g o od ©
3% WA ST GHAT ST & ?

(A) cAihai® AT
(B) TN e
(C) === (A1 Fammes) et
(D) TRHRTF AT

gt — | % 9T B G — 11 % UgT o AT
gofAd &Y | A &3 e o ST R
TT 370 3T JIATRT

e - | =it - 1
(M) (e fearfer )
a. 9wt 1.a S eFear
U B HH
HA & |
b. 3t 2.9 S Sem AT
fora & efai
HA & |
C. ®E X 3.9 S Fr-omam
Bl @ § el %
ST T TR
HA ¢ |
4. ST wOEY @
AL A & |
FH
a b c
A 2 3 4
B 1 2 3
€ 2 3 1
D) 4 1 2
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62.

63.

Match List — I with List — Il and
indicate your answer using the codes

given below :

List— 1 List— 11
(Disorder) (Symptoms)

a. Dyssomnias 1. Abnormal
behaviour that
occur  during
sleep.

b. Insomnia 2. Sleeplessness

c. Parasomnias 3. It involve

problems in
getting to sleep

or getting
sufficient high
quality sleep

d. Hypersomnia 4. Excessive sleep

Codes :

a b C d

A 2 4 3 1

B 1 2 3 4

Cc 3 2 1 4

) 1 3 2 4

Assertion (A) : A person’s  self
concept is partly rooted in the
feed-back of other people.

Reason (R) : The reactions of
others are based on “looking-
glass self” effect as an
internalization of  others
reactions to self concept.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.
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64.

65.

Read each of the following two
statements-Assertion (A) and Reason
(R) and indicate your answer using
the codes given below :

Assertion (A) : The anticipatory
anxiety that people develop
about having another panic
attack is thought to arise from
activity in the hippocampus of
the limbic system.

Reason (R) : According to one
theory, panic attacks arise from
abnormal activity in the
amygdala.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Which of the following options is
true regarding the relationship
between thinking and language ?

(A) Real thinking requires the use
of language.

(B) A thought that cannot be
expressed in a particular
language cannot occur to
speakers of that language.

(C) People sometimes think in
images rather than in words.

(D) A thought is never expressed in
language.

J-04-13



62. AT — | g — 1l % AT FAfAT AL
3 A f5 et e ¥ ST IR
AT

= - | = - 1
(ferepfera) (cTaoT)

a feggmfem 1. 1 & IRE
ST FERR
gret ot

b. T 2. 3T

c. WHmem 3. T o= W oar
e S
ToERT R
3 | g

d. atfafsT 4. ety s

FHE

a b c d

A 2 4 3 1

B 1 2 3 4

C 3 2 1 4

M 1 3 2 4

63. AfWEHuE (A) : U K D W-UROT

AMoTF & ¥ TW AR @l
Tfeqfte % HRT Bl & |

#HROT (R) i B o T
TafshaTd T 4RO & Ui 37T
afafsharsti & SFAIHT & ®q H
“TIRTTAE HoR” W STEIRA
BAE |

FT

(A) (A) 3R (R) 31 9 & 3% (R),
(A) i TE A E |

(B) (A) ¥R (R) sHi = &, T
(R), (A) = Wel =ame &l & |

(C) (AT E, g (R) 3¢ |

(D) (A) 3 e, g (R)TH T |
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64. FAfEd g FeAL-ARTE (A) 3T

65.

FRT (R) & ufgd 3R A 5T i

3T TR ALY

AfHBeT (A) 0 EAE gREar S
fF o sdd/meREe w1 o
TSN B9 & R § Toshiad e
A S & ar fefees vomel %
feorbrrm § wiafafy @ S
T A & |

%Rt (R) . T g % AR,
3% TeTEe &% gHel ATTeet o
SR TAfaty ¥ 3= 8id & |

ET

(A) (A) 3R (R) i ¥ € 3R (R),
(A) i TE A E |

(B) (A) ¥R (R) SHI ¥ & W
(R), (A) =t Tl =ame =& ¢ |

(C) (A)TT & W (R) ITHAE |

(D) (A) 3T &, W< (R) TAE |

o 3T 9o & S SR o 7o |
freforiad § 9 =1 fasheT g & 2

(A) arfas o= & fem s @
SYFNT YT & |

(B) &g four it us foviw wmor #
ST el fohaT ST Hehell & 3 9T
F RIS T FeT &1 Thell & |

(C) fi-aft TNT ITe3T Bt 3TUeT Bfaar
T g € |

(D) foaR wft ot 9T ° e T
T ST & |
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66.

67.

68.

Which of the following models
accepts that the more deeply
information is processed, the more
likely it is to be retained ?

(A) Level of processing model

(B) Retrieval cues model

(C) Atkinson and Shiffrin model
(D) Trace model

Which of the following is the best
description of Cattell’s Concept of
Fluid Intelligence ?

(A) One’s ability to reason speedily
and abstractly and it tends to
decrease with age in the range
of 25-35 years.

(B) One’s ability to reason speedily
and abstractly and it tends to
increase with age in the range
of 25-35 years.

(C) Specific mental abilities which
are measured by every task in
an intelligence test and
increases with age in the range
of 5-15 years.

(D) Specific mental abilities which
are measured by every task in
an intelligence test and
decrease with age in the range
of 5-15 years.

Read the following two statements,
Assertion (A) and Reason (R) and
indicate your answer using the codes
given below :

Assertion (A) : Many amputees
experience  phantom  limb
syndrome  where in they

continue to feel their missing
limbs after surgery.

Reason (R) : The image of one’s
body’s boundaries continue to
function even after parts of the
body are removed.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A) istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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69.

70.

A person who excels in zeroing in on
what information is crucial in a given
situation and combining seemingly
unrelated facts is high on

l. Componential
1.  Experiential
I1l.  Contextual
Codes :

(A) lonly

(B) Honly

(C) landlIl

(D) Iland I

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R). Indicate

your answer using the codes given

below :

Assertion (A) : Emotional
intelligence is the set of skills

that underlie accurate
assessment, evaluation,
expression and regulation of
situations.

Reason (R) : Emotional
intelligence is the basis of
empathy for others, self

awareness and social skills.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.
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66.

67.

68.

feferfad & 9 % |1 Jiset g € o
e T ST TR | WSk
ST €, ST SA1ET 3T Ui &1 sl
GTEAT 9 S § 2

(A) G % UshHUT HT Higet

(B) YA:MI Hohd Higer

(C) TueihaA qan RTRRA #iee

(D) iq fa= Ateat

HA H WA JE B STYRUT H

fefefad & & 9 foeror =1 € 2

(A) ST 3R 3T ®9 § Th A i
AT ST Tg, 25-35 T H 3G
AT % T A e ORI |

(B) e | T 3T ®9 & dH HA
H AT AR e, 25-35 TNt B
31 |7 & A T T € |

(C) fafyre AMigs argad S U
1 T g T H A SAA &
3R S 5-15 96t & g H %
T e § |

(D) faRre wAfg®: AFgae ST Jhg
TRIETOT H WSk hrd FRT AT ST
T 3R 5-15 @t ® T A F
T A Bl § |

d T T gET et ;s (A)

T HROT (R) i Ul R A 52 Fei

&l TeTaar ¥ 70T 3T Ty

A (A) : 9gd  °@ 3Tl
BT 37T TH &0 HeqH il
£ S 9 oot & 9% T o
31T T Hegq AT STRI T&d ¢ |

R (R) A H MR A
TRAME BT IRR F 9
foree % a1g ot 1 A EA T |

H

(A) (A) &R (R) 3 7 € 3R (R),
(A) &l el A T |

(B) (A) 3R (R) SHI &4 &, 3R (R),
(A) T TE AT TET§ |

(C) (A) T= T, W (R) 3HAE |

(D) (A) 3\ g, W] (R) A€ |
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69.

70.

T AR S, & T8 a H, @ gE
3BT € W UgEH H Scpredl ST § SR
W ST T2l il HEAfeiEd W)
AT o | 39 €

(A) faF |
(B) @& II
(C) 13w 1
(D) 13w 1

Bl S Rt ol e Dl E s

(A) 31T TE H HROT (R) H1 A1 {3

T E | A S el HerEar | ST

I A

AP (A) TS ghg A
HIVTAT 1 qY=ag & T Feafeat &
T2 3Tehot, Todichd, e
R fafam 1 SR &1 € |

&R (R) . e g TR &
ford wryfa, w-smesar SR
WIS SHILTEAT T SR T |

(A) (A) 3R (R) i ¥ € 3R (R),
(A) T T& AR E |

(B) (A) &R (R) i ¥ €, W (R),
(A) i TE AT T

(C) (A)T= T, W (R) 3TAE |

(D) (A) 3 \T g, W (R) T € |
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71.

72.

73.

The pituitary gland is the master
endocrine gland because

(A) It produces the largest number
of different hormones.

(B) It controls the secretion of
several other endocrine glands.
C) 1t is
functioning of the autonomic

responsible for the

nerve system.

(D) It controls the thinking and
amount of body growth.

Hinduism and Buddhism differ
regarding the existence of a

(A) Social dimension of self
(B) Physical dimension of self

(C) Psychological dimension of

self

(D) Transcendental dimension of

self

In a recent version of the 16 PF (5"
edition) the second-order factor
analysis of 16 PF scales is reported
yielding five second order factors.
They are referred to as

(A) Global Factors
(B) BigFive
(C) Five-Factor Model

(D) Universal Personality Factors

74.

75.
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Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R). Indicate
your answer using the codes given
below :

Assertion (A) : In a maze learning
experiment rats who were
reinforced from the beginning
and those which were not
reinforced until the eleventh day
of the experiment, did not show
any difference in learning and
performance.

Reason (R) : It is possible for
learning to remain dormant for
a considerable length of time

before it is manifested in
behaviour.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Match List — | with List — Il and
indicate your answer using codes
given below :
List -1 List—11
(Stress (Brief
related term) explanation)

a. Stress 1. External-
Internal
obstacles

b. Frustration 2. Events  like
competition

c. Eustress 3. Tragic
circumstances
like funerals

d. Distress 4, Situation that
challenges
coping

Codes :

a b c d

A 4 3 1 2

(B) 4 1 2 3

C 4 2 1 3

D) 2 3 1 4
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71.

72.

73.

gy ur guE S ufer g &
ERIIED

(A) TE Tl erHAT # Fad AR
AT S0 Ll & |

(B) T® #E I i@l uA &
HEUT S R A |

(C) I& wWId g Woelt @i
HRHAT o foru e & |

(D) ¥ fo=a q&m IR & fahrg @t
ANl R et € |

feg ui IR 95 wb, f= A 9 o
e § T T € 2

(A) 39T FETSTE o’
(B) T = Hifdes fowaR
(C) =& T RS o

(D) T T SFTIATA fod

16 PF (587 ¥&@0) % &l & &
TEHT H, 16 PF AHET &1 5 e
% HRe favctuor § i f5d Hife e
I AT Y G & §, 3% e §

(A) TAEA el
(B) UM 9E FRF
(C) U= Hiset

(D) WEiTH AT HRb

74, T I FE KO T E UH H AT

75.
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(A) 3R T F FHRT (R) T 17 fgar

T E | A T el & R U 3T H

T

AWHAT (A) : JonIerT AR =T
H, S 98 URTT § & geferd o
g 3 9 S YA % TERed o
q$ gAeted T@l e T 8, A
Ty der foes O #iE o
TET 39 |

HRT (R) . 9% 99 ¢ % =aEr
FRT VR 8 & qd ST o
T T Y H @A |

T

(A) (A) ¥R (R) 3HI & & 3R (R),
(A) F TE AR E |

(B) (A) 3R (R) s &= & = (R),
(A) i TE AT T E |

(C) (A)TTE W (R) ITAE |

(D) (A) 3TF &, < (R) TAE |

Tl — | & g — || % | e o

T 58 T Fed F WA G U IW

3fehd HRT :

= - | = - 1
GRlEE:) (wtare =)
Heiferd oTeg)
a. oI 1. STRI-3ATINE
HicAredt
b. 2. UfRTar S
HEA
c. &I 3. FE uRfefaRt
S b arifte
d. = 4, T HRA B
AT ferf
He
a b c d
A) 4 3 1 2
B 4 1 2 3
© 4 2 1 3
) 2 3 1 4
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